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HERA Scoring Scheme

Introduction

The following document describes the way in which HERA calculates the total points score.  This document is the property of ECC Ltd and is subject to copyright restrictions.  Member institutions are allowed to use it for their own internal purposes but distribution outside the consortium is forbidden.

Questions

HERA has 50 questions grouped under the 14 elements.

The elements have between 3 and 6 questions each.  

Each question is weighted.

The questions within each element increase with regards to the level of complexity, skill or demand required. 

Each question has between 1 and 6 possible responses (A-F).

In points terms, the steps between the questions and responses are progressive and are more or less of equal size.

Responses

There are four types of response table depending on the nature of the questions to be answered:

Single response tables - allow only one response to be allocated

Linear response tables - the questions are free standing and separate responses allocated as appropriate to the evidence (one response per question)

Matrix response tables - two dimensions of demand interact and so each question is treated separately and allocated an appropriate response

Target response tables – a series of questions are linked and cumulative.  The main focus of the role requirements is targeted then other questions in the set are allocated an appropriate response, depending on how relevant each one is to the role.

The response to each question has a value, known as the ‘raw question score’.  

The lowest is 1 and the highest 20

The value of the responses depends on the number of responses within a particular element: 

For those with 3 possible responses the values are

1

10 

20

For those with 4 possible responses the values are

1

6.6

13.3

20

For those with 5 possible responses the values are

1

5

10

15

20

For those with 6 possible responses the values are

1

4

8

12

16

20

Response Allocation

1
For all question types except those with Target Response Tables

Each question is allocated the response which the trained HERA Role Analyst decides best reflects the evidence of role requirements.

This response has a value as indicated above.

The value is multiplied by the question weight.

The question weightings were assigned to replicate the rank order of roles produced during the Conjoint Analysis exercise.  They also reflect the increasing level of demand as represented by the text of the questions within each element.  

A representative sample of staff employed in the sector took part in the Conjoint Analysis exercise, a carefully constructed and valid approach, in which they identified the comparative positions of the benchmark roles used in the development of HERA.  The results were analysed by staff group, type of institution and gender to see if there were any significant differences; none were found. 

Holders of the benchmark roles were interviewed using the HERA questionnaire and the results were used in a statistical method (multiple regression) to replicate the rank order.  The degree of fit obtained was over 0.7.

See example 1 on page 5 for a worked example of a linear response table

2
For Target Response Tables

This type of response table has been designed to give credit to those roles in which the role holder is sometimes required to operate at levels higher than their main focus.  

The question weights are represented by the ‘A’ response values for the series of questions.  

When allocating the responses, the analyst identifies which response represents the main focus of the role.  This is allocated an A response.

As the questions are incremental, any below the main focus level are deemed to have been subsumed into the higher level and so are allocated a D response (implicit).

Any question above the main focus is considered.  A response of Important (B), Occasional (C) or Not Relevant (D) is allocated as indicated by the evidence.  

The value of these responses is added to the value of the main focus response (A).

See example 2 on page 7 for a worked example of a Target Response Table.

3
Combining the question results

Once the responses have been allocated to all the questions for each element they are weighted and then are added up as shown in each example.

Converting the Raw Scores

The weighted score for each of the elements is then converted from the 1 – 20 scale to a 100 – 1000 scale, for ease of interpretation.

The use of a longer scale stretches the results.  This removes the need to use decimal points and allows the differences between the roles to be seen more clearly.

This conversion requires the use of a linear equation ax + b = y.  This is a mathematical device that creates a straight line relationship.  The numbers used in the formula are a = 47.368 and b = 52.632.  x is the number to be converted.

See example 3 on page 9 for a worked example showing how this works. 
The Element Weight

The element weights were also assigned as a result of the Conjoint Analysis exercise.  

The representative sample of staff were asked, using Conjoint Analysis, to identify which of the 14 elements were most important to Higher Education.  

The results were analysed by staff group, institutional type and gender to see if there were any significant differences.  There was a measure of agreement by staff group and institutional type but the differences between men and woman were statistically significant.  There was agreement however on the most and least important elements.  It was therefore decided to group the elements into bands where agreement had been reached and to weight them according to the degree of importance assigned by those taking part in the survey.

The weightings and how they are applied to the converted question and response scores are shown in example 4. 

The Total Points Score 

The weighted score for each element is added together to produce the total points score.

Full details of the scoring scheme are shown in the appendix.

Example 1

Linear response tables

Used for:

Communication

Pastoral Care and Welfare

Team Development

Note:

The same principles apply to the elements using the single response and matrix response tables

As Communication has two parts each has an additional weighting.  Oral Communication is weighted at 0.55 and Written Communication at 0.45.

The following example is for Team Development:

Response A = 20

Response B = 10

Response C= 1

The question weighting reflects the increasing level of demand:

Q
43 = 0.25


Q
44 = 0.35

Q
45 = 0.4

As this is a linear response table, each question treated as being free standing.  It is possible to allocate any of the following responses:

Q 43 

A 20 x 0.25 = 5 
or B 10 x 0.25 = 2.5 
or C 1 x 0.25 =0.25

Q 44 

A 20 x 0.35 = 7 
or B 10 x 0.35 = 3.5 
or C 1 x 0.35 = 0.35

Q 45 

A20 x 0.4 = 8
or B 10 x 0.4 = 4 
or C 1 x 0.4 = 0.4

A response allocation of 

Q 43 = C

Q 44 = A 

Q 45 = A 

would achieve a weighted question value of 15.25.
Single response tables

Used for:

Sensory and Physical Demands

Knowledge and Experience

In these elements, only one choice is possible.

SPD has four possible responses with the values of 1, 6.6 13.3 or 20. 

KE has six levels with the values of 1, 4, 8, 12, 16 or 20.

The scoring works in exactly the same way as for the linear response tables shown in example 1.

Matrix response tables

Used for

Liaison and Networking

Decision Making 

Teaching and Learning Support

The scoring works in exactly the same way as for the linear response tables shown in example 1.

Example 2

Target response tables

Used for:

Teamwork and Motivation 

Service Delivery

Planning and Organising Resources

Initiative and Problem Solving

Analysis and Research

Work Environment

This type of response table has been constructed to give credit to those whose roles require them sometimes to work at a level higher than the one deemed to be the main focus. 

The question value and weight have been combined.

For Initiative and Problem Solving, the values of the responses are:


A
B
C
D

Q 
27
1
0
0
0

Q 
28
6.6
2
0.5
0

Q 
29
13.3
5
1
0

Q 
30
20
7.5
2
0

If the main focus of the role is Q 28, a score of 6.6 would be achieved.  

Q 27 would receive nothing as its value is implicit in Q 28.

If the evidence indicated that the role holder was required to operate at the level Q 29 and this was an important requirement of the role, a B response would be allocated.  This would attract 50% of the available points (i.e. 5/2 = 2.5).  

If the requirement was Occasional, 50% of the C value would be allocated (i.e. 1/2 = 0.5). 

If the evidence indicated that the role holder was also required to work at the level of Q 30 and this was important, a B response could be allocated.  This would attract 50% of the points (i.e. 7.5/2 = 3.75).

If the requirement was Occasional, 50% of the C value would be allocated (i.e. 2/2 = 1). 

Thus

Q
28
A = 6.6



Q 
29 
B = 2.5

Q
30
B = 3.75

Would give a total of 12.85

Q
28
A = 6.6



Q 
29 
B = 2.5

Q
30
C = 1

Would give a total of 10.1

Example 3

Converting the 1 - 20 point scale into a 100 - 1000 point scale requires the resolution of two equations as there are two sets of known values - the bottom of each scale and the top of each scale.

The equation used is: 
ax + b = y
x represents the value on the 1 - 20 point scale and y represents the equivalent value on the 100 - 1000 point scale.

1 point on the first scale will become 100 points on the second scale, so when x = 1 then y must equal 100.  20 points on the first scale will become 1000 points on the second scale, so, when x = 20, then y must equal 1000.

This produces two equations:

(a x 1) + b = 100 and (a x 20) + b = 1000

When these are combined, the equation to be solved is 

(20a +b) - (1a + b) = 1000 - 100

As the two 'b's cancel each other the equation becomes

19 x a = 900

a = 900/19 or a = 47.368 

If this value is substituted back into the equation it becomes

1 x 47.368 + b = 100

or

b = 100 - 47368 or b = 52.632

The results obtained in examples 1 and 2 can be converted thus:

Team Development

Q
43
C
1 x 0.25 
=
0.25

Q 
44
A
20 x 0.35 
=
7.00

Q
45
A
20 x 0.4 
=
8.00

Total
15.25

15.25 x 47.368 + 52.632 = 774.994  rounded to 775 (unweighted element points)

Initiative and Problem Solving

Q 
27
D
0
0

Q 
28
A
6.6
6.6

Q 
29
B
5/2
2.5

Q 
30
C
2/2
1.0

Total
10.1

10.1 x 47.368 + 52.632 = 531.049  rounded to 531 (unweighted element points)

Example 4

Element Weights

These were identified by a representative group of staff as:

Elements
Weight

Communication
8

Teamwork and Motivation
7

Liaison and Networking
6.5

Service Delivery
7

Decision Making 
7

Planning and Organising 
7

Initiative and Problem Solving
8

Analysis and Research
7

Sensory and Physical Demands
5

Work Environment
6.5

Pastoral Care and Welfare
6.5

Team Development
7

Teaching and Training
9.5

Knowledge and Experience
8

Total
100

The element weights are applied as a percentage so 7 becomes 0.07 in the scoring scheme.

If the weights are applied to the examples given above, the following element points are obtained:

Team Development 
775 x 0.07 = 
54.25 

or, if rounded, 


54 weighted element points
Initiative and Problem Solving

531 x 0.08 = 
42.48

or, if rounded,


42 weighted element points
Appendix

Scoring grid


Type of Table
Response
Value
Q weight
Weighted Value

COMMUNICATION
Linear


%


1

A
20
0.2
4



B
10
0.2
2



C
1
0.2
0.2

2

A
20
0.4
8



B
10
0.4
4



C
1
0.4
0.4

3

A
20
0.4
8



B
10
0.4
4



C
1
0.4
0.4

4

A
20
0.2
4



B
10
0.2
2



C
1
0.2
0.2

5

A
20
0.4
8



B
10
0.4
4



C
1
0.4
0.4

6

A
20
0.4
8



B
10
0.4
4



C
1
0.4
0.4








TEAMWORK & MOTIVATION
Target


N/A
N/A

7

A
1





B
0





C
0





D
0



8

A
5





B
1





C
0





D
0



9

A
10





B
3





C
0.5





D
0



10

A
15





B
5





C
1.5





D
0



11

A
20





B
7.5





C
3





D
0




Type of Table
Response
Value
Q weight
Weighted Value

LIAISON & NETWORKING
Matrix





12

A
20
0.15
3



B
15
0.15
2.25



C
10
0.15
1.5



D
5
0.15
0.75



E
1
0.15
0.15

13

A
20
0.2
4



B
15
0.2
3



C
10
0.2
2



D
5
0.2
1



E
1
0.2
0.2

14

A
20
0.3
6



B
15
0.3
4.5



C
10
0.3
3



D
5
0.3
1.5



E
1
0.3
0.3

15

A
20
0.35
7



B
15
0.35
5.25



C
10
0.35
3.5



D
5
0.35
1.75



E
1
0.35
0.35

SERVICE DELIVERY
Target


N/A
N/A

16

A
5



  

B
0





C
0





D
0



17

A
13





B
3





C
2





D
0



18

A
20





B
7.5





C
5





D
0




Type of Table
Response
Value
Q weight
Weighted Value

DECISION MAKING 
Matrix





19

A
20
0.4
8



B
15
0.4
6



C
10
0.4
4



D
5
0.4
2



E
1
0.4
0.4

20

A
20
0.35
7



B
15
0.35
5.25



C
10
0.35
3.5



D
5
0.35
1.75



E
1
0.35
0.35

21

A
20
0.25
5



B
15
0.25
3.75



C
10
0.25
2.5



D
5
0.25
1.25



E
1
0.25
0.25








PLANNING & ORGANISING RESOURCES
Target


N/A
N/A

22

A
1



 

B
0





C
0





D
0



23

A
5





B
1





C
0





D
0



24

A
10





B
3





C
0.5





D
0



26

A
15





B
5





C
1.5





D
0



26

A
20





B
7.5





C
3





D
0




Type of Table
Response
Value
Q weight
Weighted Value

INITIATIVE & PROBLEM SOLVING
Target


N/A
N/A

27

A
1





B
0





C
0





D
0



28

A
6.6





B
2





C
0.5





D
0



29

A
13.3





B
5





C
1





D
0



30

A
20





B
7.5





C
2





D
0










ANALYSIS & RESEARCH
Target


N/A
N/A

31

A
1





B
0





C
0





D
0



32

A
5





B
1





C
0





D
0



33

A
10





B
3





C
0.5





D
0



34

A
15





B
5





C
1.5





D
0



35

A
20





B
7.5





C
3





D
0




Type of Table
Response
Value
Q weight
Weighted Value

SENSORY & PHYSICAL DEMANDS
Single





36

A
20





B
13.3





C
6.6





D
1










WORK ENVIRONMENT
Target


N/A
N/A

37

A
5





B
0





C
0



38

A
13





B
3





C
0



39

A
20





B
7.5





C
0










PASTORAL CARE & WELFARE
Linear





40

A
20
0.25
5



B
10
0.25
2.5



C
1
0.25
0.25

41

A
20
0.35
7



B
10
0.35
3.5



C
1
0.35
0.35

42

A
20
0.4
8



B
10
0.4
4



C
1
0.4
0.4








TEAM DEVELOPMENT 
Linear





43

A
20
0.25
5



B
10
0.25
2.5



C
1
0.25
0.25

44

A
20
0.35
7



B
10
0.35
3.5



C
1
0.35
0.35

45

A
20
0.4
8



B
10
0.4
4



C
1
0.4
0.4


Type of Table
Response
Value
Q weight
Weighted Value

TEACHING & LEARNING SUPPORT
Matrix





46

A
20
0.1
2



B
13.3
0.1
1.33



C
6.6
0.1
0.66



D
1
0.1
0.1

47

A
20
0.25
5



B
13.3
0.25
3.325



C
6.6
0.25
1.65



D
1
0.25
0.25

48

A
20
0.3
6



B
13.3
0.3
3.99



C
6.6
0.3
1.98



D
1
0.3
0.3

49

A
20
0.35
7



B
13.3
0.35
4.655



C
6.6
0.35
2.31



D
1
0.35
0.35

KNOWLEDGE & EXPERIENCE
Single





50

A
20





B
16





C
12





D
8





E
4





F
1
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